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Math 1730, june 10

the volume of its circumscribed cylinder is 2/3.

2) Isaac Newton used ''fluxions' on his way to derive the laws

of celestial mechanics and the Law of Universal Gravitation

(F=CMm

r<

3) Gottfried Leibniz derived some properties of differentiation

of ... calculus)

Subsequently it has been discovered that the easiest way to explain

from earlier courses.

Chapter R recalls the properties of functions that will be needed in

our study of calculus which starts in Chapter 1.

("hapfnr R.1 Graphq and Fquafinnc 2 y 1
Example. Graph the equation y= (x-2) . /
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Compound Interest Formula

dep05|ted today then the account is worth, after 5 years

2000(1.0025)60 =2323.23

N={1,2,3,4,5, ...}

one set caIIed the d.am.a.ln and a secon set called the range_

such that every member of the domain corresponds (is related)

to one and only one element of the range.

f(x) = x”~2 assigns to every element x of the domain the value

X2 in the range (a subset of the nonnegative numbers)

Counterexample: g(x) = + ~/x with domain any subset of the nonnegative real

numbers. g(4) is 2 (the solutions of x~2=4) then g is not a functi on

because it takes on more than one value.

is the cure n the xy plane glven by {(x y):x in D y=f(x)}

Example: Graph f(x)=x2- 2




Graph of : y
X2 - 2x 7

Each functlon W|th domain and range in the real numbers has a graph

of some function if and only if it obeys the \LecthaLLLne_tesL A curve is

the graph of a function if every vertical line intersects the graph at most
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R.3 Domain and Range.
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understood that the domain is a large as possible so that the

formula for the function makes sense.
A-Ix

Example: f(x) =

X-3



